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Question 1

Question Type: MultipleChoice

Refer to the exhibit.

y d or type unknown

Refer to the exhibit. When making a call to a Mobile and Remote Access client, what are the combinations of protocol on each of the
different sections A-B-C?

Options:

A) IP TCP/TLS (A) + SIP TCP/TLS (B) + SIP TLS (C)

B) SIP TCP/TLS (A) + SIP TCP/TLS (B) + SIP TCP/TLS (C)
C) SIP TLS (A) + SIP TLS (B) + SIP TLS (C)

D) SIP TCP/TLS (A) + SIP TLS (B) + SIP TLS (C)

Answer:




Question 2

Question Type: MultipleChoice

Refer to the exhibit.

yfhd or type unknown
yfhd or type unknown

Refer to the exhibit. A collaboration engineer is configuring the Cisco UCM IM and Presence Service. Which two steps complete the

configuration of the SIP trunk security profile? (Choose two.)

Options:

A) Check the box to enable application-level authorization.
B) Check the box to allow charging header.
C) Check the box to accept unsolicited notification.

D) Check the box to transmit security status.



E) Check the box to accept replaces header.

Answer:

C E

Question 3

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. A user takes a phone from San Francisco to New York for a short reassignment. The phone was set up to use the
San Francisco device pool, and device mobility is enabled on the Cisco UCM. The user makes a call that matches a route pattern in a

route list that contains the Standard Local Route Group. To where does the call retreat?

Options:

A) The call fails because device mobility is turned on, and the phone is not configured in New York. The engineer must configure which

sites the device should be roaming to.



B) The call egresses in San Francisco because the user uses device mobility and is allowed to roam while still keeping the number and
resources assigned in San Francisco.

C) The call fails because the Standard Local Route Group is being used only it no configuration is set for the device pools.

D) The call egresses in New York because the device automatically is assigned a New York device pool and uses the local gateway.

Answer:

B

Question 4

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. An administrator accesses the terminal of a Cisco UCM and starts a packet capture. Which two commands must the
administrator use on Cisco UCM to generate DNS traffic? (Choose two.)



Options:

A) utils ntp status

B) show cdp neighbor
C) show version active
D) utils diagnose test

E) autils diagnose module validate Network

Answer:

D, E

Question 5

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. What is the registration state of the analog port in this debug output?



Options:

A) The analog port failed to register to Cisco UCM with an error code 200.
B) The MGCP Gateway is not communicating with the Cisco UCM.
C) The analog port is currently shut down.

D) The analog port is registered to Cisco UCM.

Answer:

D

Question 6

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. An engineer is troubleshooting this video conference issue:



*A video call between a Cisco 9971 in Regionl and another Cisco 9971 in Regionl works.

*As soon as the Cisco 9971 in Regionl conferences in a Cisco 8945 in Region2. the Regioll endpoint cannot see the Region2 endpoint
video.

What is the cause of this issue?

Options:

A) Maximum Audio Bit Rate must be increased.
B) Maximum Session Bit Rate for Immersive Video Calls is too low.
C) Maximum Session Bit Rate for Video Calls is too low.

D) Cisco 8945 does not have a camera connected.

Answer:

Question 7

Question Type: MultipleChoice




Refer to the exhibit.

V d or type unknown

Refer to the exhibit. This INVITE is sent to an endpoint that only supports G.729. What must be done for this call to succeed?

Options:

A) Add a transcoder that supports G.711lulaw and G.729.
B) Nothing; both sides support G.729.
C) Add a media termination point that supports G.711ulaw and G.729.

D) Nothing both sides support payload type 101.

Answer:

A

Question 8

Question Type: MultipleChoice




Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. Given this 'debug isdn q921' output, what is the problem with the PRI?

Options:

A) Nothing, the PRI is sending keepalives.
B) Layer 2 is down on the controller.
C) PRI does not have an IP address configured on the interface.

D) Layer 1 is down on the controller.

Answer:

B

Question 9

Question Type: MultipleChoice




Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. The translation rule is configured on the voice gateway to translate DNIS. What is the outcome if the gateway
receives 0255-343-1234 as DNIS?

Options:

A) The translation rule is not matched because DNIS does not end with a '$'.
B) The translation rule is matched and the translated number is 02553431234.
C) The translation rule is matched and the translated number is 025553431234.

D) The translation rule is not matched because DNIS contains'-".

Answer:

B

Question 10




Question Type: MultipleChoice

Refer to the exhibit.

y d or type unknown

Refer to the exhibit. An administrator configured a codec preference list with 0,122 and ILBC codecs. Which change must the
administrator make in the dial-peer section of the configuration to use this list?

Options:

A) add voice-codecs 20
B) add session codec 20
C) add codec preference 20

D) add voice-class codec 20

Answer:

D



Question 11

Question Type: MultipleChoice

Refer to the exhibit.

age not d or type unknown

Refer to the exhibit. A collaboration engineer adds a redundant NTP server to an existing Cisco Collaboration solution On the Cisco
UCM OS Administration page, the new NTP server shows as 'Not Accessible' Which action resolves this issue?

Options:

A) Restart NTPD on the Cisco UCM server.
B) Delete and re-add the new NTP server via the Cisco UCM command-line interface
C) Start the NTP service on the new NTP server

D) Configure the 'reach’ value as '377' for the new NTP server.

Answer:

C



Question 12

Question Type: MultipleChoice

Refer to the exhibit.

age Nnot d or type unknown

Refer to the exhibit. An engineer configures ISDN on a voice gateway. The provider confirms that the PRI is configured with 10 channels
the engineer ordered and is working from the provider side, but the engineer cannot get a B-channel to carry voice. The rest of the
configuration for the serial interface and voice network is functioning correctly. Which actions must be taken to carry voice?

Options:

A) The engineer must activate the controller card on the voice gateway before configuring the device.
B) The engineer used a T1 interface but must use an E1 interface.
C) The pri-group timeslots command must be 0-9 for the 10 channels because all values on a router start with 0.

D) The engineer must manually revert the order of using the channels.

Answer:

A
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